Pre-Final Test Examination, 2021
H.S. Second Year (Arts)

Sub : Computer Science
Full Marks : 70 Time: 3 hours

(The figures in the margine indicate full marks for the questions. )

1) Answer the following questions : 1x10=10
©eTS fraiaiRe Ses fi 3
(a) What is Token?
Token 5 2
(b) Why main function special? Give two reason?
Main function {7 special F197z (7983 |
(c) Explain the transitive nature at Inheritance?
~ Transitive nature at Inheritance f9g=et fay |
(d) What is function prototypes?
Function prototypes & 7z ¢
(¢) What is copy constructor?
Copy constructor i &2
(f) What is Inheritance?
Inheritance it & fRg=a famy |
(g) Which header file required for creating and manipulating data file in c**?
File operation (B! header file 95" 31 2T |
(h) What is meant by stack?
Stack it & 2
(1) What is primary key a table?
Primary key table 31 3 et 2
(j) What are DDL and DML?
DDL i< DML it =5 2
2. Answer the following questions : 2x12=24
Wt MAICRT Oea e ¢ ' |

(a) What is the difference between 'a' and "a" in ¢+?

'a' IF "a" SR Ny Re’e T



(b) Differentiate between a run time error and systam error. Give one example at
each?

Run time error % systam error W& i<y F 2

(c) What is the difference between object and class?

Object S class TS 21 F 2

(d) What is function overloading? Write an example at using ctt?
Function overloading & ©Suiz3d wife (wean |

(e) How does a class enforce data writing abstruction and encapsulation.

(f) What do you understand by a default construction what is role? How it eqivalent
to a contructor having default argument.

(g) How does inheritance influence the working at constructor and destructors?
Constructor S destructors (A inheritance S (2T IZZ, G141 |

(h) Write the difference between static memory allocation and dynamic memory
allocation?

Static 1% dynamic memory allocation S «ii2f< {F 2
(i) Write the difference between stack and queques?
stack ®IF queques ST 2i1<(F =012 o2t |

(j) Obtain a simplified for a boolean exepresion POS form eqeation (51 simiplify 3
POS form.

F(u, v’ 1‘,’ z) = n’ (0’ 1, 3’ 5’ 6, 73 103 14? 15)
(k) Design a circuit diagram to realize the following :
F(a, b, c)=AB+ AC + BAC
Circuit (5% o =i (et |

(1) Differntiate between data difination language and data manipulation language.
DML 1% DDL 3 #1235 & 2

3. Answer the following questions : 3x7=21
@S AT Tes et
(a) Reduce the expression ;.; +x+ xy -
Equation (1 reduce 341 |
(b) Represent (4+ B+C)(A+ B+C)(A+ B+C) in NOR-to-NOR logic network.
NOR-t0-NOR logic gate ¥ 6@ ©ig5d ¥4t |



(c) Simplify the boolean expression using karnaugh's map.
F(a,b,c,d)=2(0,1,2,4,5,7,8,9,10, 11, 14)
Boolean expression K-map JARIT© simplify 341 |
(d) What is a data base system? What is its need?
Data base system FIF (IIT S 2019 131K [ 2
(e) What are various data model available for data base system?
Data base system model 3 fR<=¢ wifg =11
(f) What is polymorphism? Give an example in c** to show its implementation in c*™?
BWIZIE] RIS polymorphism IZEN2 fel |
(g) What is the difference between the function at IOS :: ate and ios :: app fill modes?
IOS :: ate SIS ios :: app VSR #iiefFT 2
4. Answer the following questions : 5x3=15
weTe AIGART Oes e ¢
(a) Write a ¢c™ program linear search in array?
Linear search 3 I92I¥ (YR @61 ¢** program &1 |
(b) Write a c** program for sum at matrices?

5! (IfGH (st FRFTA «Bi ¢** program & |

(c) Write a ¢** program about bubble sort?
Bubble sort (TR «bi ¢** program &1 |
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